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Introduction 
In this assignment I will explain what the circular flow of income is. I will also give examples of what might cause changes in the business cycle. I will also explain what GDP is and give examples of what its limitations are and why it’s a good form of measure. I will also explain what automatic fiscal stabilisers are. Finally I will discuss different types of inflation. 
In economics the term “ circular flow of income” is just the flow ofmoneywithin the economy. It shows us how the money is being circulated through the economy, for example it shows how the firms pay the households who then spend the money and it goes back to the firms, who then pay wages again to the households. This is just basically the way money goes around in the economy. Everything is somehow connected as all the money works its way around the economy and ends up where it started. Also it shows in the diagram how the government plays its part in the flow, for example the government receive tax from the households and firms. However they then spend the money again on benefits etc and from this the benefits will be spent on products for the home, therefore the households are spending the money from the government on the firms. Again this money ends up coming back to the households and the government in wages and taxes. If the households decide they may want to save some of their money and put it in the banks it would be known as a leakage. However this money then gets pumped back in to the economy as firms will want loans from banks. In general all the money in the economy just goes round in circles. 
Here is the diagram which shows it more clearly. 
This diagram looks at the households and business side of the cycle. 
I have also got another diagram which allows us to see the full circular flow of income diagram which is just below. This diagram shows the business side aswel as the government side to it. 
GDP stands for gross domestic product. GDP measures the amount of output of goods or services a country has to offer. For example goods or services which are provided by the country itself and does not include imported products or services. Imported products and services are known as GNP. However to measure the overall macroeconomic activity you could use either GDP or GNP. This is usually calculated over a year. 
This is not the only type of measure they can use however it is the most favourable form of measure and also it is the most comprehensive form of measure. What makes this a useful measure is that whatever it calculates works well however it should go in to more depth and include more individual based scenario’s such as the less wealthy people. 
There are some limitations to the uses of GDP for example they cannot calculate each individuals needs as well as what they already have. Therefore this means that for every person they just calculate their income on an average which would make the overall result in accurate as it will not allow the people who have a lower income to stand out from the rest in terms of living standards. The same would apply to the people who are richer as they do not stand out as having a better standard of living. This means that the figures that are shown do not necessarily show thepovertyin relation to the wealth as it’s not calculated in such a way to be more accurate. Economic growth and externalities can have a negative impact on the economy as there might be a raise in the national output which could include a raise inpollution; therefore it would affect the economic welfare. Another factor which affects it a lot is the balance between consumption and investment. For example if the economy uses too many resources in short term needs and wants of consumers then there might not be enough resources to use for future economic development. If the resources are used up to quickly then it may have a better standard of living now however in the long run it won’t be as good due to the resources being used up to quick therefore they need to balance it more so that the economy would benefit overall, it might be that the living standards go down a little bit however in the long run the economy would be better off as they will have a better standard of living on average. 
Automatic fiscal stabilisers are instruments which influence the rate of growth and help counter swings in the economic cycle. An example of an automatic stabiliser could be high growth, if there was an economic growth then automatic stabilisers will help to reduce the amount of growth. However with higher growth the government will receive more taxes. As there will be more people working which means they will be more taxes to be paid to the government. Also with a higher growth there will be a fall in employment therefore the government would be spending less on unemployment benefits. When there’s a recession the automatic stabilisers will help to limit the fall in growth. So if people have got lower incomes it means that they will be paying less tax therefore the government will be spending more on unemployment benefits. 
There are four main types of inflation. Demand-pull inflation, cost push inflation, pricing power inflation and sectoral inflation are the four types of inflation. The main type of inflation is demand-pull inflation also known as excess demand inflation, this is when the total amount of goods or services in the economy exceed the available supply therefore the prices rise in the market economy. This is without doubt the most common type of inflation for example war materials and man power grows quickly without shrinkage elsewhere. The second most popular type of inflation is the cost push inflation which is caused by costs of production raising for one reason or another therefore this makes the prices of goods and services increase as well. Usually what makes the prices raise is the cost of wages as there may be an increase in wages which means the overall unit cost would increase which leads to a higher resale price. This type of inflation is not as common as demand-push inflation however it can occur independently. 
At the moment I think the UK is suffering from cost push inflation. The reason that the UK is suffering from this type of inflation is because the prices for pretty much everything has increased. The value of the currency has also dropped. Also as the prices are all increasing some businesses are able to cope with short term increases in price however in the long run they will be forced to close down as they are unable to meet the current pricing. This is why a lot of businesses are being forced to shut down and the number of unemployment has increased. 
I think the Bank of England should not put the interest rates up at the moment as the economy is unstable. I think that the Bank of England should wait till the economy is coping better when unemployment levels drop then there should be a possible increase in interest rates, however this is only if the economy is doing well and people can afford to pay the higher interest rates. Also if the prices and taxes are decrease and product prices are lower then people will have more disposable income which means they wouldn’t mind paying a slightly higher interest rate. Another reason for the interest rates not to be increased at the moment is that as there are becoming more and more job cuts across the UK less people are able to afford to purchase houses etc which means that if the base interest rates are increased then the banks will suffer again and therefore the recession will go worse. Overall I think that if anything the rates should go even lower possibly to 0% and then people will start to get credit and the economy should start to rise. This means that businesses will start to make more money which means they can expand and create more jobs. And with these jobs people can start to pay back any money they have received from the banks. 
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